ADVANCED CHEMISTRY Name: VM,U\

Average Atomic Mass Practice

1. Silver-107 is 51.84% abundant and Silver-109 is 48.16% abundant. The precise mass of is
Silver-107 is 106.90509 amu and the precise mass of Silver-109 is 108.90476 amu. What is the
average atomic mass of silver? Report your final answer to 2 places after the decimal.
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2. What is the average atomic mass of silicon given the following abundance information on the
isotopes of silicon? Report your final answer to 2 places after the decimal.

Mass Number | Abundance

5i-28 92.21% 9% - 0923\ = 25.3d am

5i-29 4.70% 29 - D.OYTO = \. %L omu
Si-30 3.09% Ko+ O.O%H = 0.928 anu.
-\-_—__—________,___._._-—

JEEIEN

3. What is the average atomic mass of hafnium given the following abundance information on its
isotopes? Report your final answer to 2 places after the decimal.

Mass Number | Abundance

HF-176 5% MG -©.05 -3B.Yomu

Hf-177 19% \T17 - 00] = 33W3amw

HE-178 27% 118 - G =B o

Hf-179 14% \79 -0\ = 250U omw

Hf-180 35% 120 - 035 ﬂi\i——
28U\ 1250 am

4, What do the isotopes Hydrogen-1, Hydrogen-2, and Hydrogen-3 have in common? What is different
about these isotopes? Your response should include references to atomic number, mass number,
protons, neutrons, and electrons.
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